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Cuadro 8 (continuación 1)/Table 8 (continued 1)
Cuba: tablas abreviadas de mortalidada

 Cuba: abridged life tables 
a

1960

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.077 0.073  100 000  7 284  94 481 0.920 b 6 229 007 62.3
1 4 0.006 0.023  92 716  2 111  365 541 0.981 c 6 134 526 66.2
5 5 0.001 0.007  90 605   623  451 467 0.994 5 768 984 63.7

10 5 0.001 0.005  89 982   458  448 764 0.993 5 317 518 59.1
15 5 0.002 0.009  89 524   845  445 508 0.989 4 868 753 54.4
20 5 0.003 0.013  88 679  1 183  440 439 0.986 4 423 245 49.9
25 5 0.003 0.015  87 496  1 275  434 293 0.984 3 982 806 45.5
30 5 0.003 0.016  86 221  1 418  427 559 0.982 3 548 513 41.2
35 5 0.004 0.021  84 803  1 743  419 655 0.977 3 120 955 36.8
40 5 0.005 0.026  83 060  2 189  409 827 0.969 2 701 299 32.5
45 5 0.007 0.035  80 871  2 821  397 303 0.959 2 291 473 28.3
50 5 0.010 0.047  78 050  3 704  380 992 0.943 1 894 169 24.3
55 5 0.014 0.067  74 346  4 958  359 337 0.918 1 513 177 20.4
60 5 0.020 0.098  69 389  6 785  329 981 0.878 1 153 840 16.6
65 5 0.032 0.150  62 604  9 364  289 610 0.808  823 859 13.2
70 5 0.055 0.242  53 240  12 873  234 018 0.691  534 249 10.0
75 5 0.099 0.398  40 367  16 058  161 691 0.548  300 230 7.4
80 5 0.151 0.541  24 309  13 155  88 658 0.414  138 540 5.7
85 5 0.220 0.682  11 154  7 611  36 744 0.292  49 881 4.5
90 5 0.292 0.787  3 544  2 790  10 743 0.200  13 137 3.7
95 5 0.364 0.858   754   647  2 151 0.101 d  2 394 3.2

100 ω 0.440 1.000   107   107   243   243 2.3
Mujeres/Females

0 1 0.058 0.056  100 000  5 597  95 788 0.937 b 6 563 634 65.6
1 4 0.005 0.021  94 403  2 013  372 503 0.983 c 6 467 845 68.5
5 5 0.001 0.006  92 390   571  460 520 0.994 6 095 342 66.0

10 5 0.001 0.005  91 818   442  457 987 0.994 5 634 822 61.4
15 5 0.002 0.008  91 376   728  455 061 0.991 5 176 835 56.7
20 5 0.002 0.011  90 648   956  450 849 0.989 4 721 775 52.1
25 5 0.002 0.012  89 692  1 044  445 850 0.987 4 270 925 47.6
30 5 0.003 0.014  88 648  1 220  440 190 0.985 3 825 076 43.1
35 5 0.003 0.017  87 428  1 490  433 416 0.981 3 384 885 38.7
40 5 0.004 0.021  85 938  1 825  425 128 0.976 2 951 470 34.3
45 5 0.005 0.027  84 113  2 251  414 937 0.968 2 526 341 30.0
50 5 0.008 0.037  81 862  3 043  401 701 0.956 2 111 405 25.8
55 5 0.011 0.052  78 819  4 077  383 901 0.937 1 709 704 21.7
60 5 0.016 0.075  74 742  5 596  359 719 0.902 1 325 803 17.7
65 5 0.026 0.123  69 146  8 515  324 444 0.831  966 084 14.0
70 5 0.050 0.221  60 631  13 409  269 634 0.707  641 640 10.6
75 5 0.096 0.386  47 222  18 218  190 566 0.573  372 006 7.9
80 5 0.133 0.495  29 004  14 359  109 123 0.461  181 441 6.3
85 5 0.190 0.627  14 645  9 184  50 266 0.343  72 318 4.9
90 5 0.256 0.739  5 461  4 035  17 219 0.244  22 051 4.0
95 5 0.326 0.824  1 426  1 174  4 194 0.132 d  4 832 3.4

100 ω 0.394 1.000   252   252   638   638 2.5

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


